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1 (bar) =1 kgf—g'SlN—981 104 N ~ 105 (P
(bar) = (cmz) 1074 m2 7 % <F) - (Pa)
1(Psi)=1 bfy __ 445 N = 6897.5 N ~ 69 P
(Psi) = (inZ) 0025 2 m2_ %7 (W) = (Pa)



1 (Psi) = 6897.5 (Pa) = 6897.5(10 °bar) = 0.06897 bar = 0.07 bar
or 1bar = 14.5 Psi
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Figure -6 An open-tube manometer, con-
nected to measure the gauge pressure of
Figisre 18-85 (4} A mercury barometer. (/1) the gasg in the tank on the left. The right arm

Another mercury barometer. The distance of the U-tube is open to the atmosphere.
fris the same in both cases.
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py+ apvl + pgyi = pa + 1pvi + peys

p+ ;—lzpvz + pgy = aconstant  (Bernoulli’s equation)

vi=v, =0 p2=p1+ pg( — y2)

Vi= V2 Pt %PV% =Pt %PV%-

% Inpui

(1)

as the element travels along a horizontal

streamline, the pressure of the fluid must

|

l

: If the speed of a fluid element increases
I

i decrease, and conversely.

|
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Ry =av = Avg
a

L Because a < A, we see that vy < v.
0 == -

A
po + 2pv + pgh = po + pv? + pg(0).

v = Vgh




